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Postulate 4­1 Side­Side­Side (SSS) Postulate
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AAA doesn't work...
SSS works...

AAA doesn't work...
SSS works...

...are there any other options or combinations?
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Defn: Included

"Contained between"

Implies location.

Defn: Included

"Contained between"

Implies location.

A
B

C

Which sides include ...B?
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1 In ΔVGB, which sides 
include ...B?

A VG

B VB

C GB

D none

2 In ΔSTN, which ...is 
included between sides NS 
and TN?

A ...S

B ...T

C ...N

D none
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Postulate 4­2 Side­Angle­Side (SAS) Postulate

If 2 sides & the included ...of one Δ 

    are ≅ to the 2 corresponding sides & included ...of another Δ

Then the 2 Δ's are ≅.
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3 Is ΔISP = ΔPOS?

Yes  

No  

S

I O P

4 Decide whether you can 
use the SSS or SAS 
postulate to prove the 
triangles congruent.

A SSS

B SAS

C not possible
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13 Decide whether you can 
use the SSS or SAS 
postulate to prove the 
triangles congruent.

A SSS

B SAS

C not possible

L4­2 HW Problems

Pg 189   #1­4, 7­30,
33, 36, 38, 41,
44­47
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